HELPING HAND 2017-18

CLASS -VI MATHEMATICS

1. WHOLE NUMBERS

1. Smallest whole number is
a) 1
b) 0
¢) Not determinable
d) None of these.
2. Subtraction of whole number is
a) closed
b) associative
¢c) commutative
d) none of these

3. Additive identity of whole number is
a) 1
b) 2
c) O
d) -1
4. The value of 12 +0 is
a) 1
b) 12
c) O
d) None of these

5. The value of 390x4+6x390 is
a) 1320
b) 3092
c) 3900
d) 3120
6. Geetha has 7 notes each of Rs 10 and Gautham has 12 notes each of Rs 10. How much
money do they both have in all?
a) 70
b) 120
c) 190
d) 100
7. Your father decided to give you a gift worth Rs 25000 on your birthday. Out of this, he
brought a bicycle for Rs 1500 and a music system for Rs 8500. The rest he gifted to you in the
form of a ‘Kisan Vikas Patra’. What is the value of ‘Kisan Vikas Patra’ gifted to you?
a) 10000
b) 15000
c) 17500
d) None of these
8. How many times the digit 5 occurs in the units place in all natural numbers up to 100?
a) 11
b) 10
c) 9
d) None of these
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9. Write two consecutive successors of 909.
a) 910,911
b) 907, 908
c) 909,910
d) None of these

10. What is the minimum and maximum no. of digits in the sum if we add any two
—three digit numbers|?

a)4,5
b)3,5
c)3,4
d) None of these

11. Find the difference between the smallest 4 digit number and largest 3 digit ~ number.
a) 900
b)2
o)1
d)901
12.What is the largest 4 digit number divisible by 13?
a) 9999
b) 9997
c) 9986
d) None f these.

13.What is the least number that must be added to 2345 to make it exactly divisible by 3?
a) 2
b) 1
c) 0
d) None of these.
14.The difference between 895 and the number obtained by reversing the digit is
a) 792
b) 927
c) 397
d) 297
15.Division is the inverse of
a) addition
b) subtraction
¢) multiplication
d) none of these
16.There are whole number up to 60
a) 59
b) 60
c)61
d) None of these

17.The natural number whose predecessor does not exist is
a) 0
b) 1
c) 2
d) None of these
18.(7x8)x5=7x(8x5) This statement shows that multiplication of whole number is
a) closed
b) associative
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¢) commutative
d) none of these

19.When a whole is divided by
a) 0
b) 1
c) 2
d) None of these

the quotient is the number itself.

20. Divide the largest 4 digit number by the largest 2 digit number and write down
the quotient.
a) 101
b) 100
c) 10
d) 11

21. The cost of 1 pencil box is Rs. 26. How many pencil boxes can be bought for Rs
312.
a) 11
b) 12
c) 10
d) None of these.

22. The least no. which when divided by 6, 8, 9 leaves the remainder 5.
a) 79
b) 27
c) 72
d) 77

23. On dividing 92,197 by certain number, the quotient is 2634 and the remainder is 7. Find
the divisor?
a) 35
b) 36
c) 34
d) None of these

24. 125 x215-125x15=__ .
a) 28750
b) 26750
¢) 25000
d) 21500

25. There are 89 students in a class, out of which 26 play cricket, 10 play hockey and
the rest do not play anything. How many students are there who do not play any
of the games?

a) 36
b) 53
c) 46
d) 43
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NOTICE

Dear Parents,

Let the children do these sheets himself/herself.
Answer sheet of these questions will be uploaded on
demand.

For the same or any query mail us to [~
sudheerlko1673 @gmail.com

Whatsapp us on @ +917843833595,+917310273357
Website :- sudheerlko.wordpress.com
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